S /= =

#H3 26 £ E F 5 X

ER26FE4A1BMNSER27TEIA3IBET
(B H)

/\ F D=
BB LREMBRSAL | passt | o
g2y 1 IJ\n+
I — AR IF BREAEEIBRL D &R
1. FREEBOE
(1) FBE U
HE KB EERR 0 0/ 3,300,000/ 3,300,000
TWEE 18,500,000 18,500,000 18,500,000/ 37,000,000
$¥lzﬁ 33,440,000 33,440,000 0| 33,440,000
ZEREEINGE 6,000,000/ 6,000,000 6,000,000
m#&%%u& 4,060,000/ 4,060,000 4,060,000
HHEES T —INEE 23,380,000/ 23,380,000 23,380,000
T E 7,450,000] 7,450,000 7,450,000
AR 0 0 30,000 30,000
EEINZEET 59,390,000] 59,390,000] 21,830,000/ 81,220,000
(2)REER

EE T 70,130,000/ 70,130,000 70,130,000
WHEFEY 26,880,000] 26,880,000 26,880,000
E55ILEEA 1,800,000/ 1,800,000 1,800,000
ERE S5 LEEA 900,000 900,000 900,000
LR E 3,700,000] 3,700,000 3,700,000
E2HELEE 20,000 20,000 20,000
REXBE 14,040,000 14,040,000 14,040,000
BIEERE 1,250,000/ 1,250,000 1,250,000
HELE 200,000 200,000 200,000
EﬂFIJHjHJi% 3,000,000] 3,000,000 3,000,000
S3 600,000 600,000 600,000
=i5E 3,500,000/ 3,500,000 3,500,000
REMEE 2,000,000 2,000,000 2,000,000
BE 5,860,000/ 5,860,000 5,860,000
ﬁif 5,580,000/ 5,580,000 5,580,000
e 800,000 800,000 800,000
ST 9,630,000/ 9,630,000
WHWEFEY 4,130,000 4,130,000
ES5|LEEA 200,000 200,000
ERE S5 LEEA 100,000 100,000
LR E 500,000 500,000
E2HELEE 10,000 10,000
REXBE 2,000,000/ 2,000,000
BIEERE 450,000 450,000
HIERME 40,000 40,000
HEER-EESE 600,000 600,000
BE 800,000 800,000
LN 100,000 100,000
HE 700,000 700,000
BEBRH 70,130,000/ 70,130,000] 9,630,000/ 79,760,000
J{ﬂﬁ#ﬁﬁ#nﬂ%ﬁué’bﬁﬁfféﬁiﬁﬁ%ﬁ A 10,740,000 | A 10,740,000 12,200,000 1,460,000
EARBEFMIERSE 0 0
BESEMmERSE 0 0
BEFMII ST EIERE 0 0
FLmismEET 0 0 0 0
é’.,ﬁﬁﬁﬁ%ﬁ%ﬁ A 10,740,000[ A 10,740,000 12,200,000 1,460,000




